Solving linear equations and inequalities
Part A: Solve the following equations:

1) 3x—8=13 2) 4(n+5)=8
4) 2(7-p)=18 5) 3n+5=4n-3
7) 4(2—x) = 5(2x + 3) m;§%:4

2x+1 x—1 7 3 2
10) =+ =3 1) e =

Part B: Solve the following inequalities:
1) 3x—8<13 2) 6—§:>—4

4) 22 <4 5 2<i+1<5

n-1

3) -4=5

6) 10— 6a=2a—2

2x—4 x—1
+ — =
2 6

4 9
12) — =
x+2 3x+5

3) 4(2—x)25(2x + 3)

6) 0<2(7—-p)<18




Solutions:

Part A:

1) 3x—8=13 => 3x=13+8=21 => x=21+3=7
2) 4(n+5)=8 [+ 4 both sides] => n+5=2

3)2—4:5 => §=5+4=9=> x=9x3=27

4) 2(7 - p) = 18 [+ 4 both sides] => 7-p=9

5) 3n+5=4n-3
6) 10-6a=2a-2

7) 4(2-x)=5(2x + 3)

>

8) % =4  [x(n—1)bothsides] =>  20=4(n—-1) =>
9) et -l [x 6 all through] => bx-4) 4 G-
2 6 2 6
=> 6x—12+x—-1=36 => 7x=36+12+1=49
2x+1 | x-1 7 _ 6(2x+1) | 6(x—1) __ 6Xx7
10) . + T =3 [x 6 all through]=> — ==
=> dx+2+x-1=21 => 5x=21+1-2=20
3 2 . . .
11) e w1 [multiply both sides by both denominators] =>
=> 3x+15=2x+12 => 3x—2x=12-15
12) — =2 =>  4(3x+5)=9(x+2)
x+2 3x+5
Part B:
1) 3x—-8<13 [+8] => 3x<21 => x<7
2)6—§>—4 6] => —§>—10 [x-3] => x <30
3) 42-x)25(2x+3) = 8 —4x > 10x + 15
=> 8—-15210x +4x => -7 2 14x =>
OR —4x—-10x2>215-8 => —14x2>7 =>

4) 22 <4
n-1
5) 2<§+1<5 [-1]

6) 0<2(7-p)<18  [+2]

(need to flip BOTH inequalities)

[x (n—1) both sides]  =>

[-3n and + 3 both sides]

[+ 6a and + 2 both sides]

8—-4x=10x + 15

= 1<§<4

=> 0<7-p<9

=> n=2-5=-3

=> 7=9+p =>

=> 5+3=4n-3n =>

=> 10+2=2a+6a=>

=> 8 —15=10x + 4x

5=n-1

6 X6 =>

=x=7

=> 2(2x+1)+x—-1=21

=> x=4

3(x+5)=2(x+6)

=> X=—3

=> 12x+20=9x + 18

20<4(n-1) =>

[x3] =>

7] =

5<n-1
I3I<x<12
-7<—p<2
7>p>-2

=7-9==-2
8=n
12=8a=> a==2=23
8 2
1
=> —7=14x =>X=_E
=> 6=n
3(2x—4)+x—-1=36
=>3x=-2 = x=-
=> XS—l
2
=> XS—l
2
=> 6<n => n>6
[x-1]
or -2<p<7



